R "7 'on 2,50 P2 .72

But we have learnt; ‘and similarly an animal’ — 797 391 RN

OVERVIEW

XY maintains that 770 is 7w by a lion (and is 21 a 1"m). The X3 challenges
this from a Xn»72 which states that an animal who is 77 pays a w"1; indicating
that 770 1s not ANwn. Our MdoIN will reject several possibilities that seemingly
reconcile 7X7w with the Xn>12.

nooIn asks:
= 91909 AINIINT AN NNPIDY NN

It is astounding! Let us establish the X072 in the case of a wolf, whose manner

is to be nM. That is why he pays a 1737 782 w"3, for it is W, since it is AKX of a aXT to be
n7. This does not contradict 7Xmw who is discussing a lion!

MDOIN answers:
- 'anta 192 9983 193 20D ONO ANT Y YN
And one can say; that the Xn>12 states an unspecified animal, indicating that we

are discussing both a lion and a wolf. The question on %Xmw is from the case of a lion
where the Xn>92 states that he is 217 a @"3, even though that according to PXW it is not RN,

mooIn anticipates an additional question:
= NONN 19990 2957 YD 81 MN XD

And the X713 could not have answered the question on ?X»w by maintaining that

this Xn»11 is according to ©''" -

= 0YYUN OYY P PN I8N 1P NIVN (x,1 s 9INT
Who stated that 37 is unusual; it pays a 2w 11 in the 1377 931, Seemingly this
would remove the difficulty on 9Xww. Indeed 77w is considered nnwn for a lion (it is 17p),
nevertheless P17 %M1 it pays a "1 according to v"9, who maintains that 77 pays a 9¥n2 w"3
PTOI.

mooIn replies that we cannot assume that this X092 is according to v"9 and he is 217 a w"1 since
itis pra71 MW TP —
:2‘.7’0):‘19 YT DTN 23X NY NN

Since this Xn»12 is being taught concerning the 77910 of &, as the X
concludes later. According to HX1nw, however, 770 by a lion is 77p; not Jw.

' See “Thinking it over’ #'s 1&2.
* See the x»3 immediately preceding the fawn.
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SUMMARY

The Xn>72 of '7°1 191" cannot be referring exclusively to a axt for the word 71 is
inclusive (of lions as well). This Xn>72 is taught in conjunction with the laws of 1w
(not 1p).

THINKING IT OVER
1. Why must we say that and 71 includes a lion? Perhaps it refers to all animals
(who are 77) except for the lion who (alone) is 077!

2. MPoIN maintains that the term 7°1 refers all animals including an 28™ »IX. Later
""217 explains the Xn»92 is "1np P778Y; if it either was 1% 1970 or 7928 7097 it
pays a ¥"1. However this is true only concerning an »X; by a 287 he will be 2717 a
1" if it was 779981 77977 since it is not 77X to be 07! [In addition it need not be
™75 1970 to be 27na w".]’

? See 1"nx (footnote # 36)
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